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Unit-1
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What do you mean by gradient of scalar field ? Derive the expression for it.
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Calculate the integral —
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Write the Gauss's divergence theorem and prove that.
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Write the thevenin theorem and obtain expression for it

Unit-2
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Discuss the charge distribution of surface density and volume density find the intensity of electric
field with help of this
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Prove that the electric energy per unit volume accumulated in the electric field s
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Find the intensity of electric field and potential at a point located (1) outside (2)on the surface
(3)inside of a uniformly charge conductive sphere explain with figure.
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Explain the polarization vector and displacement vector and find the relation in D
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Write the classius mossotti equation and prove that.
(OR)
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Derive the expression for rise and decay of current in LR circuit where LR is in series
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Explain B H and M and prove that
(3) B = o HeM) (b) = 1+ yx.
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What is Biotsavart’s law ? Find the magnetic field at any point due to long straight current carring
conduction with the help of this.

Unit-5
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write all four of Maxwell’s equations and incorporate them,
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Obtain the wave equation of electromagnetic wave for € and 8 in vacuum and prove that the speed of
electromagnetic wave in vacuum is c= 1/Vjpof .
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